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1. S -
THATFRERERX R [ ]

A. xX2—5x+6=x(x—5)+6 B. xX2—5x+6=(x—2)(x—3)

C. x—2)x—3)=x2—5x+6D. x2—5x+6=(x+2)(x+3)

2. P
HEZH R rax+bHEER, B (x+1) (x3) , Ma, bRESRE O
A.a=2, b=3B.a=-2, b=-3C.a=-2, b=3D.a=2, b=-3

3. A

HHTIANZIA: Ox2+y2; @—x2+y2; @x2+2xy+y2; @x4—1; GOx(x+1)—2(x+
1

1); ®m2—mn+*n2. 3, BEERHMEK L (EFES).

4. 7 R

£ R a2b2+6ab+ AR AT AR, WA=

5. L FE /D
BTFAZHAERD R, SRPAEER-TR(
A. x2—1B. x(x—2)+(2—x) C. x2+2x4 PD. x2—2x+{

6. WEFERE -
T EEKXIERBRZ (O
A —x*tax=—x(x+4) B 2% xy 4 x = x(¥FW

C. x(=y) + Y= a—9)? p, P-4k Fid= (x + 2)(x-2)

7. B
EAREAs -2 - 12 R R, EREHRIE O

A3+ 4) g 3x(x—4)% ¢ 3x(x +2)(x—2) p 3x(x—2)*

8. A -
DRREEIE: a3b - ab3=.

9. IHF W -
SEER: 2a3b - 4a2b2+2ab3= }

10. fRZ R -
T 5125 R E R4 -

()a5—a;

@x(y—x)FTy(y—x)—(x—y)2;

(3)(x2—4x)2—16;

@) (y2—12+6(1—y2)+9;

S)p—H P+ 1D+3p.



